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@ Ungleichnamige Briche multiplizieren [2]

%, v R\
A X K\ Briiche

Aufgabe 1 Aufgabe 2
3 5 5 4
1. 9— o 1 — = 1. F— e 2—— =
5 7 6 8
5 5 5 3
26— o 2— = 2. F— o 2— =
7 8 6 10
9 7 7 3
33— ¢+ 3— = 38— ¢ 2— =
10 8 10
3 4 5 6
b F—— ¢ 4— = b 9— o 22— =
10 8 9
8 4 5 4
5.7 — ¢+ 1— = 54— e 2— =
16 8 6 7
Aufgabe 3 Aufgabe 4
7 6 7 18
1. 8— o 22— = 1. B— o 4— =
8 7 10 20
7 4 16 9
2. 9— o 33— = 7 88— o 11— =
8 5 20 10
7 14 4 5
39— ¢+ 66— = 36— o 4— =
8 16 7 10
9 7 9 16
b 99— ¢ 1— = L F— o 1— =
10 9 10 20
5 9 3 6
S50 F— ¢ 11— = 59— o 4— =
7 10 5 8
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0 Ungleichnamige Briche multiplizieren [2] | * K
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Aufgabe 1 Aufgabe 2
3 5 16 5 4 7
. 9— ¢ 11— = 16— . F— ¢ 2— = 19—
5 7 35 6 8 12
5 5 5 5 3 1
26— e 22— = 17— 2. F— o 2— = 18—
7 8 8 6 10 60
9 7 9 7 3 33
3. 3— ¢ 3— = 16— 3. 8— ¢ 2— = 20—
10 8 80 8 10 80
3 4 1 5 6 2
4L F— o 4— = 35— 4L 9— o 22— = 25—
10 5 25 8 9 3
8 4 1 5 4 3
5 F— ¢ 11— = 11— 5 4— e 22— = 12—
16 8 4 6 7 7
Aufgabe 3 Aufgabe 4
7 6 5 7 18 93
1. 8— ¢ 2— = 25— 1. 56— o 4— = 27—
8 7 14 10 20 100
7 4 21 16 9 18
29— e 3— = 3F— 28— ¢ 11— = 16—
8 5 40 20 10 25
7 14 57 4 5 4
30 9— ¢ b6— = bF — 30 66— ¢ 4— = 29—
8 16 64 7 10 7
9 7 3 9 16 11
b 9Q— o 1— = 17— b F— o 11— = 14—
10 9 5 10 20 50
5 9 23 3 6 3
5 F— ¢ 1— = 14— 5 9— o 4 — = 45—
7 10 35 5 8 5
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